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el (&S Al E & (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Jl 1,600
= 200
= 200
01 MEI2BZE 05z 2,000 2,000 0
OAWDA staHl N (BAYE 822)
2,000,000& x1H 2,000
J| 1,600
< 200
[ 200
OlsnsH(ZE0M st52Hl) A& 1,500 1,500 0
J| 1,200
< 150
e 150
301 et d = 1,500 1,500 0
J| 1,200
< 150
fia 150
01 MEIBEZE 05z 1,500 1,500 0
OMAS S22 IJINENHE SEEU(S,0M)
50,000& x30H 1,500
J| 1,200
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GEEH & A X3 46,950 47,950 21,000
201 Ler24] 3,020 3,020 0
03 A2 Z Hl 3,020 3,020 0
Og2aEadAMN =2 1,520
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O8I S, 400, 4=, J18=3 0lgdL=
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01 = LH o4 1l 4,680 4,680 0
OUEEAN AREX(EY)
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06 212tQ1= 2| 04 Hl 26,250 26,250 0
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11T A SXAIEE X 12,000 13,000 A 1,000
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OFASBOY HANALHA 2
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250,000%! 22 * 122 6,000
= 1,800
2 4,200
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el (&S Al E & (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 1,400
201 L4 2,000 7,000 A5,000
< 600
s 1,400
01 At 2t 2l 2,000 7,000 A5,000
OOSHEES XYl 29
2,000,000 =104 2 2,000
< 600
e 1,400
ChENEXNJHEH 29 X2 349,373 407,409 A 58,036
< 22,708
s 326,665
307 glz2tol & 346,238 407,409 AB1,171
< 22,708
s 323,530
05 RIZHRI & 3 331,238 392,409 AB1,171
OsgolasiA 55,000,000 =104 2 55,000
Ot=2st #44 AZXF 6,000,000 «1IH £ 6,000
< 2,400
i 3,600
OZE0I2IX 222X (FHIFIt 68,000
&) 4,000, 000& =20 All CH 80,000
< 2,400
s 77,600
OU=3NHd HHU= 10,000,000 *1J4 & 10,000
OUZsIIEXNJHE SAASX A
27,700,000& »1H 27,700
< 11,080
[ia 16,620
OUZRIIIEXNJALEH AN EX=E
139,090 11H «12& 18,360
= 5,508
= 12,852
OUSSIIEXNIALNH SAL SESL(2HF
Jb 10,059%& &) 1,204,916.6& = 12% 14,459
< 1,320
[ia 13,139
OUR&IIE OtHXIstn=2Y
15,000,000 *1JH £ 15,000
OU=2staEaAE otuet B2 X3 AL
2,000,000 =154 30,000
OU=ZsItE 2238 ME  4,000,000& *42] 16,000
OUI&IE X delBMXE ALY
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11T M SRAISE EX 15,000 15,000 0
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s 112,045
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13,8603 «1H 154 2t« 128 2,495
OFdI2g(ge) 110,910 » 1Z 1 11
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SH: AS =X D
Za: ol Al
St 018 AbSIE OB (B9 ®R)

= (o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
o 14,693
307 glz2tol & 73,464 76,860 A 3,396
= 51,425
< 7,346
s 14,693
05 RIZHRIEt 3 73,464 76,860 A 3,396
OXdZLs 2 ITHYEs UM A X2
1,224,400 x6H x10& 73,464
= 51,425
< 7,346
e 14,693
ots =4 X& 3,843,845 3,693,797 150,048
= 1,586,000
< 659,313
fia 1,598,532
NEotsdy 248 K& 698,040 684,542 13,498
= 349,020
= 139,608
i 209,412
307 glz2tol & 698,040 684,542 13,498
= 349,020
< 139,608
[ia 209,412
10 MBI SXNANEHI2IHE=X 698,040 684,542 13,498
OXZotsdH2 IR
5,288,181.8&*111 & +12& 698,040
= 349,020
< 139,608
s 209,412
ANSGotsdEH2E (=0, 28l) 684,368 842,723 A 158,355
< 115,778
s 568,590
202 O4dl 2,400 1,980 420
01 =S LHYI 2,400 1,980 420
O0ts=XAE NE=EH
20,0003 «2H «53|x 128 2,400
307 2Iztol ™ 681,968 655,743 26,225
< 115,778
[ia 566,190
10 MBI SXNANEHIS2IHEXR 681,968 655,743 26,225
OXYotSHE ZSAIN SE2L(2HIF0 43,2
00& &) 287 ,500& x24H 123 82,800
< 7,920
s 74,880
OXSOtSHEH SAL HEY
200, 0003 x24 X x23| 9,600
S 1,920
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e ol 4 & (2 &HH)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
= 7,680
OXNYGotsHE Ols SAXNK(2HI=I1 15,255
M) 5,180& *339H *250.0001 439,006
== 105,938
= 333,068
OX<E0tsHdH M2 A
200,000 1000 A x12& 24,000
OXNotsHE HLtetdl XI&
250,000 1100 A~ «8& 22,000
OXY0tsSHE 2D0IXFAIE oM & T2
| 4,413 500 x12& 52,962
OXNOtsHEH T2 XS
300,000 110 A x12& 39,600
0302 0l&h XIGO0oltsHE SAA o1AHH XIS
500,000 20 2~ x12& 12,000
NEotsHE 3MA K& 60,000 0 60,000
= 30,000
= 12,000
= 18,000
401 Al HIZL 201 Y| 50,000 0 50,000
= 25,000
= 10,000
= 15,000
01 Al&H| 50,000 0 50,000
OXNYotsHE SHHIMNS(Bl)
30,000,000& =14 A~ 30,000
= 15,000
= 6,000
= 9,000
OXNYotsHE SHIMNS (RO
10,000,000& #2204 A~ 20,000
= 10,000
== 4,000
= 6,000
402 SI2F 20| M 10,000 0 10,000
= 5,000
= 2,000
= 3,000
02 BIZtXIEANYEX(0IETHH) 10,000 0 10,000
OXotsHE StHMA 10,000,000 = 1JH £ 10,000
= 5,000
o= 2,000
iy 3,000
EQR2Y NY90tsHE F=IHXA 10,944 10,944 0
= 5,472
& 2,189
= 3,283
307 212t0| & 10,944 10,944 0
= 5,472
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 2,189
= 3,283
10 MM SAANEEHESIHEX 10,944 10,944 0
OER2Y XY90tsHEH =X
304,000 *3 A x12& 10,944
= 5,472
= 2,189
= 3,283
ELXZ2XME NN2E0tsHdH FOAEH 7,308 7,308 0
= 3,654
& 1,462
= 2,192
307 2iz2to| A 7,308 7,308 0
= 3,654
& 1,462
= 2,192
10 MM SAANEEHESIGHEX 7,308 7,308 0
siasxg NAoSHE XX
609,000 x 10 2~ ~12& 7,308
= 3,654
& 1,462
= 2,192
22 XNE0tsSHE X 26,620 26,266 354
= 13,310
& 5,324
= 7,986
307 2iz2tol A 26,620 26,266 354
= 13,310
& 5,324
= 7,986
10 MM SAANEEHESIGHEX 26,620 26,266 354
O2% XNY0otsHE X& 2,420,000 =110 A&~ 26,620
= 13,310
o 5,324
= 7,986
X EOtSHE ez 8,000 8,000 0
307 QI2t0| ™ 8,000 8,000 0
11T A EXAIEEX 8,000 8,000 0
OXNg0otsHdyH HAgt2 T 8,000,000 *13] 8,000
NE0otsSHE SAL 223 5,000 0 5,000
307 212t0| & 5,000 0 5,000
11 A EXAIEEX 5,000 0 5,000
OXNHOtSHE SALAF 22435
5,000,000 =13 5,000
sZ= =0/ X & &9 17,648 220, 188 A 202,540
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201 ¢er24| 3,160 2,700 460
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HEs e K& 134,306 6,750 127,556
< 1,800
s 132,506
HEAETI8 Y 9,000 6,750 2,250
< 1,800
s 7,200
301 et d s 4,000 0 4,000
< 800
s 3,200
01 MEIEBEZE 405z 4,000 0 4,000




SH: ASI =X D
Ho: HEN HSXE

2 M= s X CEE-ED
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OF0EFNH AL 250,000 »16H 4,000
< 800
[ia 3,200
307 21201 A 5,000 6,750 21,750
< 1,000
i 4,000
02 QIAHFAAFEX 5,000 5,000 0
OO0t0IEDl E2MEd2s=R 29
5,000,000& 13 5,000
= 1,000
s 4,000
OHOI=SEENJAEH 125,306 0 125,306
401 Al HIZ 2018 125,306 0 125,306
01 A& HI 125,306 0 125,306
OoloI=sSXNEdHLEE &bl
125,306, 000& 14! 125,306
2L ZHI (AL =S XD 223,327 233,251 N9,924
ol 2 AHI (AL =2 X2t 146,467 156,823 A 10,356
ol 2 A (A3 =S X2t 146,467 156,823 A 10,356
101 @14 Hl 146,467 156,823 A 10,356
01 2= 146,467 131,584 14,883
OAlztel 28+ 143,950
— 6= 11,4013 x7H +50A| 2t+ 128 47,885
—-7= 10,299& «7H «50Al 2t 12& 43,256
— 8= 9,246 x5 +50Al 2tx 128 27,738
— 9= 8,357 x5 «50Al 2tx 128 25,071
OM™SIH&HI 139,815,000 *1.8/100 2,517
Jl2Z I (A&l = Xl 1) 76,860 76,428 432
Jl2ddl (Atgl S X1 76,860 76,428 432
201 L2l 50,380 51,220 A 840
01 At 22l 47,980 48,820 A 840
OfI&s =¥ 70,0003 x10H #4 3| 2,800
O=Hl (5Y) 8,000 «25FH 72 «12& 16,800
OREA=E2(BH) 200,000 122 2,400
OARINDISE (&) 220,000 78 x12& 18,480
OJIEI2ZHI (AR EE, 244l S)(EH)
7,500,000& 7,500
02 =224l 2,400 2,400 0
03323 2 HASU= 2,400,000 2,400
202 odl 19,340 19,140 200
01 SLHOYI 19,340 19,140 200




MRS X
DN

29 (M=)

1238 (AMES A D)

= _ — d =
SA - B (SA) - MRAY - BYS e 2
OAZSXNLR(EH) 300,000 x1H =123 3,600
OSIY=2XNZLFX(SA) 130,000 x4 «128 6,240
OAMdZelge=a 20,000 x2H 53] 12& 2,400
OHZAIE(ZEH) 2,100,000 2,100
OAZSEXN2HSRE &8 5,000,000 5,000
203 YR =& 7,140 4,968 2,172
04 EASSYRFEH 7,140 4,968 2,172
ORAN2EYE=AHI 595,000& x12& 7,140
MEES(AZ =X D) 305,209 254,600 50,609
HWEHAX S (A =X 1) 305,209 254,600 50,609
2g0II=2E EE3 305,209 254,600 50,609
701 JIEtSI HEEHES 305,209 254,600 50,609
01 JIEtSI HE &= 305,209 254,600 50,609
OzsdII=2gsE =
305,209,000& 305,209




